2022-10-15 Hml-Kulo-Salo

10 poytdd, 20 paria. Jakoméara: 24. Keski: 216.

Lopputulos

Sija Pari Pisteet % Nimi J-ID Kerho

1 7 309 71,5 Nikolai Kaplitsnoi - Pertti Partanen 1360 1370 Salon Bk

2 8 290 67,1 Arvo Priimégi - Anne Vesanen 1382 2941 Salon Bk

3 2 274 63,4 Timo Mikeld - Ensio Lehtinen 1319 1184 Salon Bk

4 9 256 59,3 Kari Launis - Markku Juva 1398 1900 Salon Bk

5 17 244 56,5 Vilma Noponen - Kari Noponen 1093 1092 Kajaanin Bk - B-19

6 5 228 52,8 Timo Halttunen - Teija Tuomi 1447 1809 Akaan Bk - Tammerbridge

6 228 52,8 Pirjo-A Nurminen - Jorma Roytid 1694 1524 Salon Bk

8 11 225 52,1 Arja Niskanen - Jari Hilska 2956 1883 Salon Bk

9 1 223 51,6 Riitta-Liisa Mikeld - Jarmo Laakso 1318 1365 Salon Bk

10 14 221 51,2 Leena Eerikdinen - Anja Leinikka 1922 2176 B-19 - Akaan Bk
11 4 216 50,0 Jouko Kankaanpéi - Paavo Isotalo 1463 1628 B-19

12 12 208 48,1 Jaakko Salo - Merja Molsd 2981 2839 Salon Bk

13 16 206 47,7 Antti Valkama - Benita Sandholm

14 20 201 46,5 Jaakko Viima - Matti Rintala 2080 3024 Salon Bk

15 3 198 45,8 Helena Hanninen - Varpu Honkakoski 3337 1254 Salon Bk

16 19 195 45,1 Kari Bastman - Sanelma Bastman 2779 2782 Salon Bk - Ei SBL:n jdsen
17 10 184 42,6 Outi Yrttiranta - Hanna Ruska 2746 3185 Salon Bk

18 15 169 39,1 Raija Lindén - Hanna Suominen 2655 1685 B-19

19 13 143 33,1 Eira Lehto - Riitta Estlin 1866 2955 B-19 - Akaan Bk
20 18 102 23,6 Annikki Kilpikivi - Maila Valkama

Jako: 1 Jako: 2

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet

20 5 3vx S = a9 530 18 0 16 8 2¢ N = ¢A 110 18 0

11 3 3N S = «6 400 16 2 1215 2¢ E -1 &J] 50 16 2

19 2 3¢ E -1 aQ 50 14 4 4 17 Pass 0 14 4

614 3v S -1 a9 -50 810 7 9 3¢ E = &J -110 11 7

7 9 4v S -1 A9 S50 810 | 19 2 3¢ E = 4] -110 11 7
1215 3N N -1 J -50 810 614 IN W +1 a7 -120 612
131 39 S -1 a9 -50 810 1810 IN E +1 #3 -120 612
1810 3v S -1 a9 50 810 | 20 5 IN E +1 a9 -120 612

417 49 S -2 ¢9 -100 216 11 3 2N W +1 «K -150 117

16 8 4¢v S -3 a9 -150 018 13 1 IN W+2 a7 -150 117
Jako: 3 Jako: 4

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet

19 3 44 S +2 &K 480 18 0 17 5 6N E -2 %10 200 18 0

620 460 S +1 ¢A 450 11 7 11 18 2N E +1 #3 -150 16 2

810 44 S +1 ¢2 450 1 7 810 2N E +2 #3 -180 14 4

916 44 S +1 &K 450 1 7 620 3N E = #5 -600 12 6

11 18 44 S +1 &5 450 11 7 12 4 3N E +1 #5 -630 711

12 4 44 S +1 &K 450 11 7 13 2 3N E +1 v5 -630 711

14 7 44 S +1 &K 450 11 7 14 7 3N E +1 «10 -630 711

115 40 S = &K 420 414 19 3 3N E +1 #5 -630 711

13 2 3% W -1 aA 100 216 115 3N E +2 #3 -660 117

17 5 54 S -1 &K -50 018 916 3N E +2 #3 -660 117
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2022-10-15 Hml-Kulo-Salo Lopputulos

10 poytdd, 20 paria. Jakoméara: 24. Keski: 216.

Jako: 5 Jako: 6

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
1016 4a E -2 vK 100 18 0 617 49 N +2 al10 480 18 0
911 44 E -1 ¥2 50 15 3 419 4v S +1 a7 450 13 5
13 3 40 E -1 «aQ 50 15 3 911 4¢v S +1 a3 450 13 5
419 34 E = ¢K -140 12 6 15 2 4¢ N +1 o410 450 13 5
1 5 3a E +1 vK -170 10 8 20 7 4v N +1 o5 450 13 5
617 4o E = vK -420 513 1 5 49 S = a7 420 4 14
14 8 44 E = vK -420 513 1016 4v S = a2 420 4 14
1812 44 E = &) -420 513 13 3 4¢ N = a5 420 4 14
20 7 44 E = vK -420 513 14 8 4¢ N = o5 420 4 14
15 2 460 E +1 »Q -450 018 1812 4¢ N = «10 420 4 14
Jako: 7 Jako: 8

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
2 6 4v W -2 5 200 17 1 118 5« S = a4 400 18 0
717 4 W -2 7 200 17 1 820 5v W -1 «K 50 15 3
118 4¢v E -1 «10 100 13 5 1012 49 W -1 ¢6 50 15 3
15 3 4v W -1 «Q 100 13 5 2 6 Pass 0 12 6
820 3v E = «10 -140 10 8 19 5 4¢ W = 6 -420 10 8
1012 4v W = &Q -620 612 717 49 W +1 5 450 414
14 9 4 W = aQ -620 612 13 4 49 W +1 &4 450 414
19 5 49 W = o7 -620 612 14 9 4 W +1 ¢6 450 414
16 11 3N W +1 ¢3 -630 216 15 3 49 W +1 &K 450 414
13 4 4v W +1 a6 -650 018 16 11 5« E = &K 450 414
Jako: 9 Jako: 10

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
218 44 N = o] 420 16 2 15 4 40 S = &A 620 18 0
3 7 46 S = a3 420 16 2 13 5 5¢ W -2 aA 200 16 2
1410 44 N = &A 420 16 2 1410 34 S +1 &«A 170 13 5
1612 1« S = w2 70 12 6 16 12 24 S +2 &«A 170 13 5
619 44 N -1 &A S50 612 619 24 S +1 «A 140 810
11 1 3N S -1 #9 500 612 11 1 34 S = &A 140 8 10
13 5 46 S -1 &5 500 612 20 9 24 S +1 &«A 140 8 10
17 8 44 N -1 &A S50 612 218 44 S -1 v4 -100 315
20 9 44 N -1 97 S50 612 17 8 44 S -1 9] -100 315
15 4 5% N -3 «Q -150 018 3 7 54x S -2 «K -500 018
Jako: 11 Jako: 12

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
17 9 3N S = v6 400 18 0 16 1 1lv W+l &7 -110 17 1
13 6 4« S = v8 130 16 2 17 9 2¢ W = &7 -110 17 1
1020 3v W -1 &2 50 14 4 12 2 24 E +2 ¥5 -130 14 4
15 5 44 S -1 aK S50 11 7 4 8 2v W+ &7 -140 9 9
16 1 44 S -1 aK S50 11 7 1020 2¢ W +1 &7 -140 9 9
14 11 S5«x S -1 v4 -100 8 10 13 6 3v W = ¢4 -140 9 9
4 8 3v W = a4 -140 513 19 7 1l W2 &7 -140 9 9
18 3 34 W = a4 -140 513 14 11 2¢ W +2 &7 -170 216
12 2 3a E +1 vQ -170 117 15 5 3v W+l «10 -170 216
19 7 24 E +2 ¢A -170 117 18 3 2¢ W +2 ¢9 -170 216
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2022-10-15 Hml-Kulo-Salo

10 poytdd, 20 paria. Jakoméara: 24. Keski: 216.

Lopputulos

Jako: 13 Jako: 14

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
713 IN S +3 ¢5 180 18 0 713 6¢ S = &2 920 18 0
1412 IN S +2 3 150 16 2 14 12 44 S +1 v2 450 16 2
1 3 24 N +1 &5 140 13 5 1 3 3N N = ¢K 400 12 6
15 6 34 N = v4 140 13 5 16 2 3N N = «Q 400 12 6
16 2 IN S +1 «3 120 9 9 1710 3N N = «Q 400 12 6
1710 IN S +1 «6 120 9 9 819 24 S 3 7 200 810
5 9 IN S = &6 90 612 5 9 3¢ S 392 170 612
819 24 S -2 Aal0 200 216 18 4 2¢v N -1 «Q 50 414
1120 3N S -2 %6 200 216 15 6 3N S -3 &2 -150 216
18 4 24 N -2 ¢Q 200 216 1120 7¢x N -4 vK -800 018
Jako: 15 Jako: 16

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
2 4 59 E = #5 -450 16 2 2 4 2&x E -3 &2 800 18 0
610 5v E = a3 -450 16 2 1711 3a S +1 «Q 170 16 2
919 4¢ E +1 %Q -450 16 2 919 24 S +1 v7 140 14 4
114 49 E +2 a8 -480 810 610 24 S = 5 110 12 6
16 3 4v E +2 a3 -480 810 114 2¢ E -1 a4 100 9 9
17 11 4¢ E +2 »7 -480 810 16 3 2¢ E -1 a4 100 9 9
18 5 4¢v E +2 2Q -480 8 10 2012 IN S = &l 90 612
2012 4¢v E +2 &3 -480 8 10 13 8 2¢ E = al0 -110 315
15 7 5¢ E +2 2Q =510 216 18 5 2¢ E = #10 -110 315
13 8 6v E = ¢A 980 018 15 7 3Nx S -3 &6 -500 018
Jako: 17 Jako: 18

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
913 IN N +1 «8 120 18 0 20 1 2vx N = aA 670 18 0
711 4ax W -1 aA 100 16 2 711 2¢ E -1 &8 50 13 5
16 4 1¢ N = #8 70 14 4 815 2N E -1 &9 50 13 5
1712 5¢ N -2 &A -100 12 6 913 24 W -1 ¢A 50 13 5
815 24 W = aA -110 9 9 1910 IN E -1 %6 50 13 5
1910 24 W = o5 -110 9 9 16 4 2¢ S -1 #3 -100 810
14 2 34 W = &3 -140 612 3 5 264 W = ¢A -110 513
3 52N N -3 a2 -150 4 14 1712 24 W = v4 -110 513
20 1 2Nx N -2 a9 300 216 18 6 3¢ E +1 %2 -130 216
18 6 3Nx N -4 a9 -800 018 14 2 IN N -3 ¢5 -300 018
Jako: 19 Jako: 20

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
17 1 4ax S +3 v3 890 18 0 1310 IN W -3 ¢2 300 18 0
516 44 S +3 v6 510 15 3 314 IN W -2 3 200 15 3
812 44 S +3 ¢5 510 15 3 516 IN W -2 3 200 15 3
15 9 44 S +1 o5 450 1 7 812 2N N +1 a4 150 12 6
20 2 44 S +1 w6 450 1 7 4 6 2¢ N +1 99 110 9 9
1310 464 S = w6 420 810 20 2 2¢ N +1 v9 110 9 9
314 5¢ E -3 vA 300 612 1911 IN W -1 «3 100 612
4 6 5¢x E -1 vA 200 414 18 7 2¢ N = &10 90 4 14
18 7 4¢ E +1 &9 -150 216 17 1 IN W = &3 90 216
1911 49 W = 8 -620 018 15 9 49 S -1 o] -100 0 18
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2022-10-15 Hml-Kulo-Salo

10 poytdd, 20 paria. Jakoméara: 24. Keski: 216.

Lopputulos

Jako: 21 Jako: 22

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
1113 3¢ S = aA 110 16 2 9 1 2¢ S = 10 110 18 0
14 4 3¢ N = &10 110 16 2 1015 2N E -1 A 100 16 2
16 6 3¢ N = &10 110 16 2 1113 IN E = vA 90 13 5
1912 34 W -2 &7 100 12 6 14 4 IN E = vA 90 13 5
1015 2« N = #8 90 10 8 217 2 S -2 #10 -100 10 8
217 34 W -1 ¢A 50 810 5 7 24 E = vA -110 612
5 7 2N S -1 a6 -100 513 16 6 1a E +1 vA -110 612
20 3 4¢ N -1 %6 -100 513 20 3 24 E = vA -110 612
18 8 24 W +1 &7 -140 216 1912 2N W = ¢10 -120 216
9 1 3N N -3 4] =300 018 18 8 24 E +1 &Q -140 018
Jako: 23 Jako: 24

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
716 5ax E -3 «A 800 18 0 17 3 3N E -1 a5 50 18 0
17 3 5« S = ¢A 600 16 2 716 3¢ E = &7 -110 15 3
6 8 3N W -3 ¢9 300 13 5 918 2¢ E +1 &7 -110 15 3
1511 3N W -3 «5 300 13 5 1213 IN E +2 ¥3 -150 12 6
1213 IN W -2 «9 200 10 8 19 1 3N E = &7 -400 10 8
514 44 S +1 ¢A 150 711 514 3N W +1 al10 -430 711
918 44 S +1 v9 150 711 20 4 3N W +1 a8 430 711
10 2 44 E -1 &«A 100 216 6 8 3N W +2 al0 460 315
19 1 2¢ W -1 9 100 216 10 2 3N E +2 &7 460 315
20 4 3¢ W -1 &6 100 216 1511 6 W = al0 980 018
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